

3,10000



#### www.wingspandonation.com

#### **ABOUT US**

Welcome to Wingspan Donation, a catalyst for compassion and change. Founded in 2013, we are driven by a singular mission. We embrace a forward-thinking approach to philanthropy. Over the years, our dedicated team and passionate supporters have, yet our commitment to making a positive impact remains unwavering. Join us in redefining what's possible-your involvement, whether through donations, volunteering, or advocacy, fuels the momentum for lasting change. Together, let's shape a brighter future for generations to come.



#### **OUR MISSION AND OUR VISION**



#### **OUR MISSION**

Our mission is to empower underserved communities through strategic donations, providing access to education, healthcare, and sustainable resources, fostering positive change and creating a pathway to a better future.

#### **OUR VISION**

Our vision is a world where every individual has the opportunity to thrive, free from poverty and inequality. Through purposeful donations, we aim to build a global community that values compassion, justice, and the well-being of all its members.

#### WHY CHOOSE US

Choose Wingspan Donation because we are more than just a charitable entity – we are a force for meaningful change. Our commitment to impactful results sets us apart; we have a demonstrated history of donation that showcase the tangible difference we make in financial growth. What makes us unique is our unwavering dedication to transparency and accountability. At Wingspan Donation, we believe in open communication and responsible resource management. We provide detailed insights into how your support is utilized, ensuring that every contribution leads to concrete and positive outcomes.



# WHO CAN JOIN!



**\* JOB PROFILES \* YOUTH** ✤ LESS QUALIFIED **\*** FARMERS **\* SHOP OWNERS \* BUSINESS OWNERS** FRIENDS **\* RELATIVES \* STRANGERS STUDENTS \* HOUSEWIVES** \* PROFESSIONALS

# BUSINESS PLAN

#### JOINING AMOUNT

### JOINING AMOUNT : Rs.2500/-

#### DONATION : Rs.2000/-

#### ACTIVATION CHARGE : Rs.500/-



\*A member has to add only two directs. A direct sponsor will not accept more than that.



LEVEL	DONATION	TEAM	TOTAL DONATION
Level 1	200	2	400
Level 2	300	4	1200
Level 3	400	8	3200
Level 4	500	16	8000
Level 5	600	32	19200
	TOTAL INCOM	32,000	

#### **RETOP UP : Rs.13200/-**



\*You have to top up with 13200 rupees to get donation from level 6 to level 10, also after you top up with 13200 rupees the donation will be distributed from level 6 to level 10 in your up line.

LEVEL	DONATION	TEAM	TOTAL DONATION
Level 6	700	64	44,800
Level 7	1000	128	1,28,000
Level 8	1500	256	3,84,000
Level 9	3000	512	15,36,000
Level 10	5000	1024	51,20,000
TOTAL DONATION			72,12,800

#### **CONTACT US**

## For Any Kind Of Help Contact Us support@wingspandonation.com





## THANK YOU

www.wingspandonation.com